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EFETHETRAOR
FRERERAOGIEAZEHZED) {I_'.I\*D4£E1 zﬁ 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 301 346 388 734
EARI1TH 1,055 1,157 1,273 2,430
mAET2TH 1,195 1,004 1,356 2,360
A R T 2,350 2,312 2,604 4916
BERT1TH 607 583 631 1,214
B ERT2TH 397 392 444 836
B ERI3TH 310 361 319 680
B ERTATH 539 479 504 983
B ERSTH 830 890 888 1,778
I ER6TH 376 394 417 811
HiF = HT 548 584 622 1,206
45 KHT 516 585 611 1,196
HHT 1,004 1,079 1,209 2,288
BEHT 52 54 60 114
A K BT 614 695 720 1,415
7 HT 440 440 459 899
RILHT 454 474 519 993
FORHET 206 186 223 409
RFHT 202 199 231 430
KHET 355 326 367 693
KET1TH 236 236 279 515
XKET3TH 294 339 323 662
XETATH 874 802 985 1,787
fit] LLI BT 2,447 2,746 2,877 5,623
JE LT 992 1,100 1,194 2,294
EHERT2TH 318 457 452 909
EHERISTH 421 520 519 1,039
EHERT4TH 393 462 496 958
EHERSTH 349 395 452 847
EAEHET6TH 214 287 278 565
EHERT7TH 168 252 260 512
=Y:i 337 329 366 695
8 [ T 1,661 1,477 1,705 3,182
=i ET 514 539 624 1,163
2l 3t BT 470 563 549 1,112
N =15 100 112 119 231
L EFHET I 637 629 698 1,327
L EFHTER 846 759 843 1,602
L HAET 2,003 2,157 2273 4,430
LFH¥ABT1TH 73 121 112 233
LE¥ET2T B 157 157 180 337




HEZ HH 5 £ i
LH¥AET3T B 148 153 165 318
EHART4T B 167 184 206 390
LHABTS T B 217 264 300 564
I == HT 201 207 227 434
JN=FRT1TH 558 539 529 1,068
Jn=FRI2TH 554 524 564 1,088
JNSFEIST H 428 436 409 845
M=rET4T H 1,074 1,058 1,106 2164
I S5k T 596 596 665 1,261
I=F5di) 220 204 244 448
Jt B BT 30 35 38 73
B[] 395 353 339 692
fHZaE T 817 914 972 1,886
FHRHET 83 78 93 171
1 2 FF T 358 396 431 827
BEFE1TH 95 117 129 246
BEFE2TH 275 307 321 628
T EHT 131 135 136 271
/N BB T 3,113 3,083 3,277 6,360
1R T 258 277 301 578
YEZF HT 765 750 780 1,530
EXBI1TH 256 245 258 503
=4 ILHT 217 158 124 282
Hh ek HT 27 27 4 31
Tt AT 11 16 12 28
THHEE1TH 729 646 686 1,332
THHEE2TH 531 552 537 1,089
THHEESTH 864 900 1,040 1,940
TEHE1TH 176 177 168 345
TEHRI2TH 818 751 864 1,615
TEHRISTH 157 172 179 351
TEHRI4ATH 98 112 118 230
TEHRISTH 210 230 235 465
T HAET 584 604 636 1,240
THET1TH 351 346 358 704
THET2 T H 468 426 486 912
TH#RBI3TH 201 195 226 421
TET4TH 155 147 178 325
TH#RBI5TH 168 175 206 381
HAHT 17 16 8 24
T 186 199 181 380
#8)11 BT 46 46 54 100
KTIHT 297 309 334 643
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HEZ HH 5 £ i

7B KHT 1,645 1,624 1,763 3,387
FSIED 258 312 297 609
XLAT1TH 841 739 895 1,634
X#ILET2TH 315 343 367 710
X#ILET3TH 155 150 169 319
1 [ BT 44 67 73 140
hHET1TH 388 421 397 818
hHET2TH 470 467 523 990
hHBEI3TH 453 508 504 1,012
aiEld:) 251 222 273 495
th 2 JEHT 218 199 228 427
ch T 136 131 163 294
TR AHT 774 868 864 1,732
At FAET 881 867 999 1,866
75 K ERET 777 941 989 1,930
75 2 [N HET 1,685 1,810 1,946 3,756
A HT 907 855 956 1,811
$FHET1TH 534 479 509 988
$FHET2T H 402 386 429 815
¥FHETST B 198 204 222 426
| BT 166 209 217 426
YHET1T B 387 479 495 974
HET2 T B 340 358 399 757
HET3 T B 360 388 437 825
HET4 T B 123 118 152 270
J\ & T 989 1,049 1,090 2,139
J\HHT 157 191 185 376
T 4 BT 247 272 309 581
T A HT 1,623 1,585 1,796 3,381
THB1TH 21 20 18 38
T4HB2TH 1,487 1,351 1,358 2,709
T4HBI3TH 194 177 161 338
T4RBI4TH 370 297 366 663
T4RB5TH 927 624 920 1,544
T4HBI6TH 638 618 667 1,285
THBI7TH 347 359 414 773
T4HBISTH 375 390 414 804
THRBOTH 405 442 502 944
T4AB12TH 239 258 268 526
T+4R13TH 318 359 388 747
AR NBHT 1,961 1,677 1,929 3,606
HARRHET 1,390 1,256 1,165 2,421
H AR KR ET 292 367 382 749
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HEZ HH 5 = 5
E AR ERT 162 165 172 337
- WNEL] 131 115 137 252
FH AR hHT 208 228 264 492
FHARAKHET 438 457 486 943
& AR ElT 319 331 370 701
EHARE)IIHET 279 259 291 550
=N ] 117 123 138 261
FH AR JTHT 100 97 105 202
EARERHE 663 563 638 1,201
B K R HET 383 397 406 803
Edsa] 890 880 1,014 1,894
BIERT1TH 751 730 736 1,466
BEFET2TH 596 599 679 1,278
RIS TH 343 406 405 811
AIFTET1TH 429 386 423 809
AIFTET2TH 601 600 671 1,271
AIFTET3T B 656 742 802 1,544
A HT 181 193 185 378
B LH 250 316 333 649
NEL] 799 745 823 1,568
ERL 775 936 940 1,876
= HHT 1,741 1,919 1,966 3,885
HETHRET1TH 568 605 647 1,252
HELTIRET2TH 509 587 635 1,222
HLIREISTH 292 364 365 729
P fx T 316 358 385 743
mERI1TH 1,165 1,115 1,259 2,374
mERI2TH 843 943 1,034 1,977
FA T 1,357 1,369 1,528 2,897
= RITET 526 481 535 1,016
= AHT 356 282 326 608
AR#4HT 7 5 4 9
) 504 553 504 1,057
SHET1TH 706 609 768 1,377
S HET2TH 414 445 471 916
aHEI3TH 856 716 876 1,592
S HET4TH 758 610 826 1,436
E& T 1 1 0 1
J\IRET1TH 217 251 270 521
J\BRET2T B 222 218 235 453
J\BRET3T H 251 307 315 622
1T HT 299 420 409 829
FHRIBRT1 T H 166 195 201 396
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HEZ HH 5 £ it
FIEIET2 T B 304 430 466 896
FIEIET3 T B 112 181 173 354
EOER1TH 128 191 191 382
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

BEE 89,303 | 90917 98560 | 189,477
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